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I 13 mwn: only 0T coming from a 53 and fit for np>ar renders garment ©1223 NYVY (v. 1- A TWR — must be fit for nrn)
a  therefore: if it sprays directly from the neck, or from the 17p or Mo, or if it fell and he collected it — no v123 required
b  note: the end (general rule) of the nwn is explaining the reason for the three rulings
¢ note: NRTAY NR1 is mentioned to exclude a circumstance where less than nxri »13 was received in each of 2 0%
i Per: 5w 12 ®nadn 1, who ruled that re: nmIR 719 such an amount is V1P 8Y
1 Question: can we apply this to o7 as well?
(a) Lemmal: it may be a (n"n%n) 8N2%’n, and we cannot use that as a model
(b) Lemma2: that ruling is based on v. 2 — nna Yaw, parallel to v. 3 — nTa Y2v)
(c) Answer: ruling that it is also invalid re: o1
II  xna (quoted by ®11) explaining v. 3:
a  91v1 > must dip, and not sweep (along sides of 53 for oT)
b  bT1-> must have enough o7 for n%2v from the beginning (excluding n»w from his fingers
¢ o011 n > the 7 mentioned (and not 01w — per X" who invalidates use of ya¥xa oTn »”v)
i Justification: without 013, R"10 that Y2V} requires no MYW; without Y201, 8*10 he could “sweep” to get 0T
d  Challenge to 77 (DY "1 quoted to 19, his teacher) — Xn»11 states that if he was performing nxon »n nrrn and it sprayed
from his hand — ©1223 v; if he had completed mxth — no requirement
i Assumption: before he finished, requires v12°3; if he finished — doesn’t require
ii  Rejection: means — if it had already left his hand, requires; if had already left his hand — no need
iii ~ Challenge (7aN): once he finishes n79n 07 MR, wipes his hand on 719 (v. 4) = if he didn’t yet finish, he doesn’t
1 Meaning: 0w are valid — contra R™
2 Rejection: inference is that before finishing all 7 mxtn, he wipes his finger on the rim of the pamn (per v. 5)
I 23 mwn: garments which require 0122 if 07T was sprayed on them
a  ami 1. if the skin was not yet flayed (off the 129p) — no requirement; if already flayed — ©12° 190
b  »”reven if flayed — no requirement
¢ General rule: only spot of the o7 (not the whole garment) ©12°3 YV, only NRMY H2pH NRIW T2 and fit for V127D
i Per:v.1-np qwR —only spot of blood; “fit for vV1275” — excludes a *»3 which is scraped off instead of washed
IV 71 mwn: whether T3, sack or pelt (leather) — all require ©12%3; 01273, and washing/breaking D’y must take place in n7y
a  Note: the requirement of v17p DIpn is a XIMN of nrYn over other VTP 'O
i Source: v.1; extension to nvaw/np»n from v. 7 (employs conjunctive 1Ry before each clause)
b Source (dispute 8”1777): 11 (v. 1) could be interpreted as nkmv Yap% "R (includes a flayed pelt) or nkmv Hapn (not pelt)
i Bone of contention: between nTi 1 and R™
1 »an atowel less than 3x3 (MyaxR) — isn’t "MV Yapn but is "X, if he would regard it as significant
2 x27 a1 he intended to color — it is &7 (he could change his mind, rendering it done); isn’t currently Yapn
3 2wx17(or 8727): a rug he intended to cut (as above) (support — n”aw7 —not NknY until he cuts it per intent)
¢ Discussion of inclusion of 71»:
i Challenge: if he had some dirt on his garment on naw, if it is leather, he may put some water on it (but not fabric)
1 Answerl (»3X): 1327 vs. DPINR re: NRVN DT T3 (DINR — launder MY; 13271 — scrape it off)
2 Note: report of student who would rub dirt off of 27’s shoes on naw supports — like 13129
(a) Challenge (837): all agree that my is launderable — per v. 6
3 Rather: v. 6 and our mwn refer to soft leather; the dispute (above) is re: hard leather
(@) In which case: report of cleaning 17’s shoes referes to hard leather and follows 1127
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4 Rejection (837 himself): we can’t determine that p1oa is only referring to soft leather
(a) Rather: v. 6 — ny1¥ softens (even hard) leather - it can be laundered
(b) But: he is bothered by ruling that leather pillows can be dampened on naw to clean — and they are soft
(i) Answer: without rubbing one side against the other, it isn’t considered ©12>3 (>nawa 1mn)
(if) ->report about 27’s shoes is either hard leather, following all; or if hard — o nx>
5  Challenge (to X27): then fabric should also be allowed if no rubbing is employed
(a) Answer: soaking fabric is its vV12°3 (unlike leather, which requires rubbing)
(b) Consistency: X117 rules that throwing a scarf or flaxseed into water on naw-> a»n
(i) Question: why liability for flax seed?
1. If: it is because it helps them grow (liability for ny»1), then wheat/barley should also be 11ox
2. Rather: it is because flax seed has a liquid layer that separates when wet
a. If so: leather should also be Mox (we permitted if no rubbing)
b. Answer: in the case of flax-seed, soaking in water is akin to nw%
(c) ~a7 publicly taught that shoes may be laundered on naw, was challenged from report about 21’s shoes
(i) 27’ shoes: only rubbed, not cleansed
(if) ~27 publicly retracted his 1mn
d  Challenge (to final statement): there are other mamn of nron over other Wp
1 For example: only one to go inside
(a) Block: refers to mmxm nron
2 Example: if it goes inside, it is %108
(a) Block: y™> — all n1 become 04 if brought inside
3 Example: requires "7 inn
(a) Block: v —all wn7 require "1 10
4 Examples: requires 7 be placed on 11p, with the finger, exactly on the corner-point
ii  Answer: the mwn isn’t identifying the single X1, just an example of one of them
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